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"HaunoHanbHbIN Napk J1ank
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GATESHEAD EDUCATION COMMITTEE.

COMPETITIVE EXAMINATION FOR ENTRANCE

O |_||e HNBaHuMe TO SECONDARY AND CENTRAL

SCHOQOLS, 1943.

TUESDAY, 6th APRIL, 9-15 a.m. to 10-30 a.m..

WRITTEN ARITHMETIC.

(Except in Question 1 you may lose marks if you do not give all necessary working).

1. Copy down the following statements and complete them :—

(a) 1 chain = yards. (b) 2 stones = ths.
(¢) 3 gallons = pints. (d) 2/5ths of £1 = shillings.
(e) 23 times 28 = (f} 6 score = dozen.
(g) 3 cwts. = stones. (h) £1 6s. 8d. = pence.
(i) 12 x 17 = i 8 ;< _

2, Find the values of:
(i) 4297 x 67 (i) 38°64 — 239 + 2768
(i) 3 + 3 x 64 (iv) 39314 = 47

3. {a) Add together 5 cwts. 2 stones and 30 lbs. and give your answer in lbs.
. {b) Divide £50 6s. 3d. by 23.

4. At different shops I spend 16s. 9d., 3s. 4d., 2s. 11}d. and 7s. 24d. How much
shall I have left if I started with £2 7

5. By reducing the amount of gas used in a house by one eighth the gas bill was reduced
by 5s. 4d.
(a) What was the old gas bill, and
(b) What is the new gas bill ?

6. Five pennies side by side in a line measure 6 inches. How much is obtained for a
charity when one mile of pennies (placed in line, side by side) is collected ? Answer in £

~1

A car uscs petrol at the rate of 14 miles per gallon in towns and 25 miles per gallon in
the country. A milk dealer travels 124 miles per day in the country and 6 miles per
day in towns. How much petrol will he use in 4 weeks ? (7 days per week).

8. An acroplanc left its base at 9 a.m. and flew to an aerodrome 1500 miles away at a
steady speed. It came down, took 1} hours to refuel and then returned at the same
speed to its base, where it arrived at 11 p.m. Find its speed in miles per hour.

9. A man’s salary is £520 per year. He pays £80 per year for income tax, £36 per year
insurance and £2 per weck for his rooms. If he saves 2[5ths of the remainder, how
much does he save in a year. (Take 1 year = 52 weeks).

10. A rectangular swimming pool is 23 yards long and 10 yards wide. It has a path
vound it 3 feet wide. How much will it cost to put a fence round the outside of the

path at 5s. 6d. per yard ?
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How do we graph the dialation of time
A = proper time over bodies of mass? Does it fall on the

B = body of mass
C = inverse square graph of gravitational influence
D = hypothetical graph of time dialation in reference to B

same graph of gravitational influence?
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GATESHEAD EDUCATION COMMITTEE.

COMPETITIVE EXAMINATION FOR ENTRANCE
TO SECONDARY AND CENTRAL
SCHOOLS, 1943.

TUESDAY, 6th APRIL, 9-15 a.m. to 1030 a.m..

WRITTEN ARITHMETIC.

(Except in Question 1 you inay lose marks if you do not give all necessary working).

1. Copy down the following statements and complete them :—

(a) 1 chain = yards. (b) 2 stones = ths.
{c) 3 gallons = pints. (d) 2/5ths of £1 = shillings.
(¢) 2% times 28 = {(fy 6 score = dozen.
(g) 3 cewts. = stones. (h) £1 6s. 8d. = pence.
(i) 12 x 17 = (J_)s:s:

2. Find the values of:
(i) 4297 X 673 (1) 53864 — 2°39 + 2768
(i) (3 + 3) x 6 (iv) 59314 + 47

3. {a) Add together 5 cwts. 2% stones and 30 lbs. and give your answer in lbs.
{b) Divide £50 6s. 3d. by 23.

4. At different shops I spend 16s. 9d., 3s. 4d., 2s. 11id. and 7s. 2i{d. How much
shall T have left if I started with £2 ?

By reducing the amount of gas used in a house by one eighth the gas bill was reduced
by 5s. 4d.

(a) What was the old gas bill, and

(b) What is the new gas bill ?

&

6. I'ive pennies side by side in a line measure 6 inches. How much is obtained for a
charity when onc mile of pennies (placed in line, side by side) is collected ? Answer in £

7. A car uscs petrol at the rate of 14 miles per gallon in towns and 25 miles per gallon in
the country. A milk dealer travels 124 miles per day in the country and 6 miles per
day in towns. How much petrol will he use in 4 weeks ? (7 days per week).

8. An acroplanc left its base at 9 a.m. and flew to an aerodrome 1500 miles away at a
steady speed. It came down, took 1} hours to refuel and then returned at the same
speed to its base, where it arrived at 11 p.m.  Find its speed in miles per hour.

9. A man’s salary is £520 per year. He pays £80 per year for income tax, £36 per year
insurance and £2 per weck for his rooms. If he saves 2/5ths of the remainder, how
much does he save in a year. (Take 1 year = 52 weeks).

10. A rectangular swimming pool is 23 yards long and 10 yards wide. It has a path
round it 3 feet wide. How much will it cost to put a fence round the outside of the
path at 5s. 6d. per yard ?
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1. NOUCK UCTUHDI
2. PasButne ymeHun aprymeHTauumm

3. MoHMMaHMe MbILWNEeHns Y4eHUKa
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